GENERAL STUDIES

1.  Where is the famous Sun Temple of Konark situated ?

(a) Madhya Pradesh (b) Andhra Pradesh
(¢) Odisha (d) Rajasthan
2.  In which dynasty the ‘decimal system’ was introduced ?
(a) Mauryan dynasty (b)  Gupta dynasty
(c) Kushan dynasty (d) Vardhan dynasty
3. During the reign of Harsha, which educational centre was most famous ?
(a) Taxila (b) Nalanda
(¢) Vikramshila (d) Kashi
4.  From which place of Uttarakhand the Ashokan rock edict is reported ?
(a) Kalsi (b) Kotdwar
(c) Gochar (d) Bhimtal
5. The famous rock-cut Kailash Temple is situated at
(a) Elephanta (b) Badami
(c) Mahabalipuram (d) Ellora
6.  Who was the founder of the Nanda dynasty in ancient India ?
(a) Kalashok (b) Mahapadma Nand
(c) Ghananand (d) Ajatshatru
7.  Where is the ‘Vijay Stambh’ situated ?
(a) Agra (b) Jaipur
(c) Delhi (d) Chittorgarh
8.  The name of Akbar’s mother was
(a) Hameeda Banu (b) Noor Banu
(c) Mariyam Banu (d) Nargis Banu
9.  The Shiva Temple at Tanjavur was built by
(a) Cholas (b) Pallavas
(c) Pandyas (d) Rashtrakutas
10. Which Mughal ruler started the Mansabdari system in India ?
(a) Babar (b) Humayun
(c) Akbar (d) Shahjahan
11. Where is the tomb of Humayun situated ?
(a) Agra (b) Delhi
(¢) Sikandara (d) None of the above
12. The author of the book ‘Mother India’ is
(a) Catherine Mayo (b) Louis Fischer
(c) Hugh Toye (d) None of the above
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(a) TAIRTH (b) SITRIH
(c) 3SMTH @ TTEEH
2. U TERH SYHEE TOT TEierd g8 o ?
(a) | IoEY (b) T TTEST
(c)  FHEOTASTE (d) TE TeTE
3. &9 % YT H, i T HeA(0Tsh e, Falrtaes Uidg o ?
(a) &R (b) ATersT
(c) TospamyTeT (d e
4. IREUE & FH WA W g foreTrera ghad & ?
(a) hrerdl (b) FIER
(c) TR (d) e
5. ufag Srorehd oy Hi e ©
(a) Uerher (b) =TT
(c) WREEIRH (d) TeRT
6.  UTEN 9RA Y TFEe9T ohT AT i o7 ?
(a)  SHTCATIIh (b) WIUEH=
(c) =A< (d) IR
7. ot wmy el fea e ?
(a) 3RT (b) AR
(c) feeett d) fedeme
8.  3TheR bl I T AH AT
(a) BHRTAE! (b) TS
(c) HRI\ = (d) -RE™E I
9. iR o e HieR feree svema o ?
(a) T IMERT A (b) TooAd MR A
(c) TIUS SIgeh! A (d) TZHE IR A
10. 7T T I 3 YRA § FAGERRY SFaRel ReT &t ?
() aR b) T
(c) 3HNR (d) vmeSTEr
11. EHY I Akl el FEd g ?
(a) AT (b) feoedt
(c) Taw=x (d) IFEFH I HIE &l
12, O 3fear qs & @ &
(a) ol aA (b) T R
(c) g (d) SHEFH Y HE T
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When did British Government took India under its own control from the East India

Company ?

(a) 1833 A.D. (b) 1842 A.D.

(c) 1858 A.D. (d) 1911 A.D.

The author of the book ‘Unhappy India’ was

(a) Lala Lajpat Rai (b) Bal Gangadhar Tilak
(c) Annie Besant (d) Chitranjan Das
‘Sravanbelagola’ is associated with

(a) Buddhism (b) Ajivikas

(¢) Jainism (d) Shaivism

In which State is the ‘Pawnar Ashram’ of Vinoba Bhave situated ?
(a) Gujarat (b) Maharashtra
(c) Madhya Pradesh (d) Rajasthan

Which one of the following American Journalists accompanied Mahatma Gandhi during
Quit India Movement ?

(a) William L. Shirer (b) Web Miller

(c) Louis Fischer (d) Negli Farsan

Which among the following was the founder of the ‘Gadar Party’ ?

(a) Lala Hardayal (b) Bhagat Singh

(c) Balgangadhar Tilak (d) Abul Kalam Azad
Where did Swami Vivekanand attend the “World Parliament of Religion’ in 1893 ?
(a) Chicago (b) New York

(c) Washington (d) Alaska

Who was the Viceroy at the time of the Jallianwala Bagh massacre ?
(a) Lord Dalhousie (b) Lord Chelmsford
(c) Lord Minto (d) Lord Ripon

India’s third research station in Antarctica is

(a) Gangotri (b) Maitry

(c) Shaurya (d) Bharti

‘Earth Hour 2012’ was celebrated on

(a) 16" March 2012 (b) 20" March 2012

() 31° March 2012 (d) 1* April 2012
‘Lokpal Bill” was introduced in the Lok Sabha for the first time in the year
(@) 1968 (b) 1970

(c) 1975 (d) 2012

Who propounded the idea of ‘Total Revolution’ in Indian Politics ?
(a) Mahatma Gandhi (b) Jawaharlal Nehru
(c) Bhim Rao Ambedkar (d) Jai Prakash Narayan
Which Article is related to the Election Commission of India ?

(a) Article 301 (b) Article 324

(c) Article 333 (d) Article 370
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ToITeeT T = AR i S STed el © 379 =1 H & foram ?

(a) 1833%. (b) 1842°%.

(c) 1858%. (d) 1911°%.

‘ST STeAT YT o A o

(a)  TCT ASTad T (b) ST TR fqeTeh
(c) THIY=< (d) TSI
“HIUE AT e &

(a) wgad (b)  3Siiereh

(c) SH&d () Vaed
forrar 9re & “YeMR e fohg e d fea € 2

(a) TR (b) ¥R

(c) WU (d) ITeTRIE
frAfafiEd e TRl 8 | i, YR SIS! A= & 9T TeTedT et & qre o1 ?
(a) faferam e o (b) o= fHeR

() &fFm (d) el wRE
19 @ ®IF TR I & Gl § 9 o ?

(a) TN BLEaT (b) I e

(c) TR Tt (d) 3TFA FAH IR
T e 7 1893 1 “fava af T’ | et s foram o ?

(a) TR (b) =gIH

(c) e¥mes d) T
STeTATeTetT ST RGN o T G i o7 ?

(a) TS SoRrs (b) TS ITHS
(c) dire et (d) e ko=
TR R H YR o dIeR Iy T &1 91 &

(a) T (b) T

(c) =& (d) wRdr

‘379 31eR 2012 HH/=T 74T

(a) 16 TTE 2012 i (b) 20T 2012
(c) 3172012 (d) 132012 A
AANHIHT H AT [TEIH T TR T g3 ol

(a) 19684 (b) 1970

(c) 19754 (d) 2012

AR TSI | GOl 1=’ o faar st frae wiquisa fhar ?

(a) T e (b) TETERE e
(c) R e (d) ST ARTE0T
IR FaTee ST & T S ws ha are ?

(a) =T 301 (b) =T 324

(c) 3T 333 d) BT 370
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Which Schedule of the Indian Constitution is related to the composition and powers of the
Panchayats ?

(a) 9" Schedule (b) 10" Schedule

(c) 11" Schedule (d) 12" Schedule

Who among the following has described the Indian Constitution as ‘Qausi-Federal” ?
(a) K.C. Wheare (b) Ivor Jennings

(c) Allan Gledhill (d) Granvil Austin

Article-32 of the Indian Constitution is related to
(a) President (b) Prime Minister
(c) Violations of Fundamental Rights (d) Governor

Before Forty-second Constitutional Amendment, under which Article of the Indian
Constitution, the word ‘Secular’ was used ?

(a) Article 20 (b) Article 25(1)

(c) Article 25(2) (d) Article 28

Which one of the following combinations is correctly matched ?

List -1 List - II

(Organisation) (Headquarters)

(a) International Court of Justice — Washington D.C.

(b) World Bank — New York

(c) UNESCO — Hague

(d) WHO — Geneva

Which one of the following pairs is correctly matched ?

(a)  Writ of Habeas Corpus  — issued only to the State

(b)  Writ of Mandamus — issued to the public servant

(c)  Writ of Quo-Warranto — 1issued to the subordinate courts
(d)  Writ of Prohibition — issued to the private individuals

Match List — I with List — IT and select the correct answer by using the codes given below
the lists.

List -1 List - II
A.  First Lok Sabha Speaker — 1. Fatima Beevi
B.  First Woman Judge of — 2. Sarojini Naidu
Supreme Court of India
C.  First Chief Justice of Supreme - 3. G.V. Mavalankar
Court of India
D.  First Woman Governor — 4. HJ.Kania
Codes :
A B C D
(a 3 1 4 2
(b)y 4 2 3 1
() 1 2 3 4
d 4 3 2 1
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IR WlTeT 3t i Tt ST Tt o TS a0 Vel & Trated & ?

(a) 9dt s (b) 109 T
(c) 119t aFge (d) 12aF s
fr1 9 9 forea wRAT Giow™ &t < d-Herens” Fere ?

(a) .9 (b) 3TEeR AT
(c) TUeH Toreleed (d) e it
TR TfeTer 1 S e5-32 qralfead €

(a) TgAfad (b) wuEEA
(c) HifeTh PRI & &7 4 (d) TIA T

FITATS TITE TMET & Ia TR W™ & g o=93 § “olifehe’ (derfrRuer) 913 o1 g
e o ?

(a) FFTST20 (b) BT 25(1)
(c) 3T 25(2) (d) IT=T28
i TarsT § @ i 91 9 g € ?
‘{ﬁﬁ-l q\%ﬁ-ll
(1) (=)
(a) =T T SR T AT —  o¥Ted S
b) favads - =
() FAwh — R
(d) Tava @ g S CEll
Tfeied & | F 91 g9 Tel gaad § ?
(a) Sl Tcgefiehor ATreeht — ool T5T I STRI &l Sl § |
(b) TRHERIT AR — i Yol ol STRI Rl ST € |
(c) 3R g=1 ekt — U e SR S e |
(d)  wifersry afeepr — it safer Bl S B ST E |
g1 =t gei-11 @ gt Sifee 3R gieat & A9 5T 73 %e &1 STET 3R Tel 3T T 994
FHITTT
- -1

A, UIH TR TeTeT 1. e sy
B. qdied <Eed | YW Uieel =R 2. QRIS AEg
C. ared =AATeTd I W Y =T 3. Al deere
D. oH AT IsTaTet 4. TES. T
Fe !

A B C D
(a) 3 1 4 2
(b)) 4 2 3 1
(©) 1 2 3 4
d 4 3 2 1
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33. The 50™ anniversary of ‘Universal Declaration of Human Rights’ was celebrated on
(a) 10" December 1978 (b) 10" December 1988
(c) 10" December 1998 (d) 10" December 2008

34. How many States and Union Territories are there in India ?
(a) 28 States and 7 Union Territories (b) 27 States and 8 Union Territories
(c) 26 States and 9 Union Territories (d) 25 States and 10 Union Territories

35. The word ‘Satyameva Jayate’ inscribed below the Ashokan Lion Capital, the National
Emblem of India, is taken from

(a) Rigveda (b) Mundaka Upanishad

(c) Bhagawatgita (d) None of the above
36. ‘Right to Information Act’ was enacted in the year :

(a) 2004 (b) 2005

(¢c) 2006 (d) 2007

37. Which of the following is not an office of the profit under the Indian Constitution ?
(a) President
(b) Governor
(c) Judges of the Supreme Court
(d) Ministers of the Union and State Governments

38. Which of the following statements is not correct ?
(a) The United Nations was established on 24"™ October 1945.
(b) The Security Council of U.N. is composed of 10 non-permanent members and 5
permanent members.
(c) The official language of U.N. is German language.
(d) At present there are 193 member countries in United Nations.

39. Which one of the following combinations is not correctly matched ?
List -1 List - 11
(Organizations) (Founders)
(a) Servants of India Society Gopal Krishna Gokhale
(b) Deccan Education Society Vishnushastri Chiplunkar

(c) Muslim League — Mohammad Ali Jinnah
(d) Prarthana Samaj — Dayanand Saraswati
40. In which Island of Indian Ocean the U.S. Naval base is located ?
(a) Okinawa (b) Seychelles
(c) Diego Garcia (d) LaReunion
41. The unit of natural selection is the
(a) Individual (b) Population
(c) Species (d) Family
42. Which of the following macromolecules is a protein ?
(a) Glycogen (b) Keratin
(c) Cholesterol (d) Chitin
43. The cotton fibre from cotton plant is obtained from
(a) roots (b) stems
(c) leaves (d) seed coats
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“HeNTeeh Rl ht eI SIS0 i 508 SISTie §rET T8

(a) 10 GE=R 1978 (b) 10 fETw=R 1988

(c) 10 fg@m=R 1998 =t (d) 10 TTTw=R 2008 i

qRA o T 3R hamiad uewr € ?

(a) 28 TS UG 7 Hs9miad s (b) 27 7T TG 8 HINTET TSI
(c) 26 T TG 9 HSINTEd U9 (d) 25T 10 FSMET TS
R o T T 3eiehia e oY o = o e “Teawe STad” ot UeoT fohal T g
(a) FASH (b) W‘s’tﬁﬂgﬁ |

(c)  ¥TarRIeT & (d) ST H I HE Tl

AT I SRR ST ] TR T o1

(a) 20047 (b) 2005

(c) 2006% (d) 2007

AR HiU % S (51 & § i |1 o1 1 I8 Tel & ?

(a) YOl (b) T

(c) TaT=d =ATAAT & AT (d) s T TT THRT & HITOT
feAfofiEd & & i a1 e T8 e 8 ?

(a) TR XIS I TATTT 24 TFSR 1945 I 8% |

(b)  GgeR TS Y& UREg o1 713 10 STTE AT 5 T Tt & fetant g g |
(c)  STH SITST T I hi MRS T E |

(d) TIRILHTAIAH 193 TG AL |

FrefeAfad TS 5 @ i 1 98t gafed T8l € ?

T g-II
(F7e) (SeTT)
(a) WE<H 31 SfUear WraTgel  —  TIUT T e
(b)  SHT USRI AT — oo e
(c) Y™ ot ~ TR el S
(d) VT ~  TIFR I
fe HeTTR | Tga T SR 1 A oreel 6 5 W fera g ?
(a) Sfepmman (b) RIew
(c) Team miern (d) nfgfEa
STehcieh a7 ! ShTE &
(a) orEfFRTH (b) el
(c) =M d T
et o & i ge50] T WieH & ?
(a)  ToIERISTA (b) e
(c) el (d) A
HUTT & e T HUTF LI 9T THT STt &
(a) <S4 (b)y T
(c) dh=id (d) TR "
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54.

‘Bhopal Tragedy’ occurred due to a highly toxic chemical whose name is

(a) methyl ethyl isocyanate (b) methyl isocyanate
(c) methyl cyanate (d) ethyl isocyanate

The name of the paper published by M.K. Gandhi in South Africa was
(a) Navajivan (b) Harijan

(c) Indian Opinion (d) African News

Who was the First Indian to receive Magsaysay Award ?

(a) Indira Gandhi (b) T.N. Sheshan

(c) Kiran Bedi (d) Vinoba Bhave
Bio-gas is a mixture of

(@ CH, CO,, H,, H,S (b) CH,, Cl,, N,, NH,4
(c) C,H, H,,Cl, CO, (d) CH,4 NH,, CO,, SO,
Oxidant used in the manufacture of match sticks is

(a) Potassium dichromate (b) Potassium permanganate
(c) Potassium nitrate (d) Nitric acid

Which of the following is used in making bullet proof substance ?

(a) Polycarbonate (b) Polyamide

(c) Polyethylene (d) Polyvinyl chloride
Which of the following is pure and free from impurities ?

(a) Boiled water (b) Distilled water

(c) Mineral water (d) Spring water

‘Rainbow Revolution’ in India is related with
(a) Film Industry (b)  Space Research
(c) Agricultural Development (d) Communication Development

Which of the following is not located on the ‘Golden Quadrilateral’ of National Highways ?
(a) Agra (b) Surat
(c) Bhuvaneshwar (d) Kanyakumari

The reference date of Indian Census 2011 was
(a) 31 December, 2010 (b) 1% January, 2011
(c) 1" March, 2011 d@ 1 April, 2011

Given below are the two statements, labelled Assertion (A) and Reason (R). Select the

correct answer from the codes given below :

Assertion (A) : Himalaya Mountain protects India from the Northern cold winds in
winter season.

Reason (R) : Himalaya is the highest and youngest folded mountain of the world.

Codes :

(a) Both (A) and (R) are true and (R) is the correct explanation of (A).

(b) Both (A) and (R) are true but (R) is not the correct explanation of (A).

(¢) (A)istrue but (R) is false.

(d) (A)is false but (R) is true.
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“SrOTeT JTERI hl ST Ueh {cATeh fasroll THE o1, ~&en 8 €

(a) oSS TR SMEEIET (b) THeES ez
(c) Toumser @rme (d) A EHEEAS
TTRTOT BTSRRI T WH.S. I §RT WhITSTd WHTER UiehT ST =19 &1

(a)  Testia (b) FREH

(c) zfveaa adifA (d) 3R T

HTOY QIR T i dTel Ty YR i o ?

(a) e (b) AT I

(c) TweoTast (d) TomraT e

EIRIRIE Rtk

() CH,, CO,, H,, H,S (b) CH,, Cl,, N,, NH,
(¢) C,H, H,,Cl, CO, (d) CH, NHj, CO,, SO,
feamaets & fmior o uge gl oot iRl &

(a) OISR SEshe (b) TERET T
(c) urefomEm ArEge d) e o

oI YT TR S & ToTu (=7 0 @ foheqept v g & 2

(a) TUARENE (b) dretTREE

(c) Ureuret (d) diehfommRe FARES
=1 0 @ @ 35 3R ot ge § ?

(a)  SSTCH g3t ST (b) 3T STA

(c) Tl ST (d) FRA ST

IRA § “THET i~ Frar-ad &

(a) TFeasEmTd (b) IHAReT T~
(c) Fu-foFmd (d) TaR-faFaa
feAfefiad & & i T T TSI & @0 T W arerd T8l € ?
(a) T (b) 9@

(€) TR (d) TP

TRATT STATUAT-2011 ot 5o fafer o

(a) 31 @=R, 2010 (b) 1 SFeRY, 2011

(c) 19,2011 (d) 13w, 2011

T T gt fqU T €, T A (A) IR T H HRT (R) FRT e e | A KU Fe v SuET
FX &l 3T T TI DI :

FT(A) © TEHTeT Ued IR i I ] B IR S gl ¥ S € |

RO (R) : T&uer foa o1 9ed 9 v Faiaq afeid 1aa € |

Fe:

(a) (A)TE (R) THl TF € T (R), (A) il Wel ARATE |

(b) (A)TE (R) THl T &, = (R), (A) T el AT TR € |

(©)  (A)TEE, g (R) T € |

d) (A) TR E, R (R) W1 € |
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Which one of the following pairs is not correctly matched ?

Planets Space Crafts
(a) Venus — Venera-4
(b) Mars — Mariner-4
(c) Jupiter — Voyager-1
(d) Mercury — Messenger

Which of the following statements is correct about ‘Datum’ line ?

(a) Itis ahorizontal line from where heights and depths measured.

(b) Itis aline of demarcations between plain and plateau.

(¢) It is the date line for the Earth.

(d) Itis an imaginary line which passes through the centre of the Earth.

Which of the following is correctly matched ?

(a) Prairies — Russia

(b) Geyser — Australia

(c) Pampas — Canada

(d) Velds — Central Asia

‘Floating Islands’ are particular feature of one of the lakes in India which is
(a) Renuka Sagar (b) Bhimtal

(c) Puskar Lake (d) Loktak Lake
Jawahar tunnel on Jammu-Srinagar highways is related with

(a) Pir Panjal Range (b) Karakoram Range
(c) Zanskar Range (d) Laddakh Range
‘Black Forest Mountain’ is located in

(a) Poland (b) Spain

(c) Germany (d) Italy

Which one of the following statements is not correct about the Representative Fraction
(R.F.)?

(a) The numerator of R.F. is always one.

(b) The denominator of R.F. is in the same unit of length.

(c) Through R.F. the scale can be converted in any other unit of length.

(d) The graphical scale can not be constructed on the basis of R.F.

The distance between place ‘A’ and place ‘B’ is represented on a map, denoting
Representative Fraction (R.F.) 1/20,00,000 is represented by 15 cm. The actual distance
between the places will be

(a) 150 km. (b) 300 km.

(c) 3500 km. (d) 4000 km.

Which one of the following mountains pass is not located in Uttarakhand ?
(@) Tunjan La (b) ThagalLa

(c) Kungribingri La (d) Shipki La

What is ‘BHUVAN’ ?

(a)  An Indian missile

(b) A ship of Indian Navy

(c) A Geoportal of Indian Space Research Organization
(d) A fighter plane of Indian Air Force
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e o 4 i T e T

P SiaRer =
(@) H - T4
(b) HITA —- A4
(c) Fe™a - FEeR-
d) ¥ - BER

‘SR @Y % gy | Frefefad § 9 S 9 o T8 ?

(a) T U &ATqeT [T ¢ 199 HaTE el TeXTg i A ol STl & |
(b)  TE @1 U Ud TSR i AT (iR AT € |

(c) et % fofu I8 U fafar @ g |

(d) TE U FHeU-eh 1@ & S gealt o heg © Rl § |

frefefad & @ i @ gafaa g ?

(a RS - wF

(b) 3IWMew -  sfefemn

(c) U™ - ATl

(d) des - maim

T AT 1T 9RA Hl Tk Sl o G T2 €, T8 &

(a) IR EER (b) far
(c) USRS (d) e et
S-SR TSTHRT OX STeTed G Faif-erd &

(a) R USTeT Soh & (b) HRIHRH 0N F
(c) SR &t | (d) oErE SO
SAh B YA ST &

(a) s H (b) w=H

(c) SHAH (d) T H

Teeeh T (3TR.U%.) ¥ G Fefeiiad § @ i |1 Ueh 52 Gel T8l & ?

(a) U F AN TRTTHEAE |

(b) .1 &, e ot ST THE HEATR |

(c) W.19. % YR W AU i fomdl 317 =g A0 i 3oh1E W URaTdd [ohaT ST HhaT & |

(d) .19 & YR W Gl A [a=Tad T8l fhar ST Jehal |

T AT 5198 Ueeieh [ (3TR.T%.) 1/20,00,000 2ifehd €, § T 37 Te W T % qe
A 15 WH FRT USRI foham 721 & | 1 T o 7eg araiaes g4 it

(a) 150 e (b) 300 e
(c) 3500 feput (d) 4000 fHHT
freterfaa & & =9 91 g (577 Stireve # fea 1@ g ?

(a) T (b) gETEN
(c) FHARI el (d) o

‘o’ (BHUVAN) 1 & ?

(a) U WRAE UeTuret

(b) YR G T Teh STerdid

(c) YR STdNeT STEYM YIS &l U Sardee
(d)  RER AT HAT T T ASTE
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Arrange the following Continents in descending order of their geographical area and select
the correct answer from the codes given below :

1. South America 2. Europe

3.  Australia 4.  Antarctica
Codes :

(a 1,4,2,3 (b) 1,2,3,4
() 2,4,3,1 (d 3,2,4,1
In which city was the capital of Mauryas ?

(a) Kannauj (b) Patliputra
(c) Vaishali (d) Ujjain

Given below are the two statements labelled Assertion (A) and Reason (R) :

Assertion (A) : In all the canal irrigated areas of North India, water logging is a serious
problem associated with over irrigation.

Reason (R) : The Indira Gandhi Canal command area is recent example in which
water logging is progressively becoming a serious menace to the
agricultural land.

Choose the correct answer from the codes :

Codes :

(a) Both (A) and (R) are true and (R) is the correct explanation of (A).

(b) (A)is true and (R) is false.

(¢) (A)is false and (R) is true.

(d) Both (A) and (R) are false.

Which of the following, is known as ‘Flame of the Forest™ ?

(a) Rosewood (b) Champa

(c) Palash (d) Semul

Which of the following altitudinal zone of Uttarakhand contains maximum forest cover ?
(a) Below 1000 metre (b) 1000 to 2000 metre

(c) 2000 to 3000 metre (d) Above 3000 metre

Consider the following statements about the rivers and select the correct answer from the
codes given below :

1.  Tons is a tributary of Yamuna.

2. Bhilangana is a tributary of Bhagirathi.

3. Pindar is a tributary of Ganga.

4.  Mandakini is a tributary of Alaknanda.

Codes :
(a)  All are correct. (b) Only 1, 2 and 3 are correct.
(c) Only 2, 3 and 4 are correct. (d) Only 1, 2 and 4 are correct.

Which one of the following statements is not correct about Agni-V missile ?
(a) Tt was successfully test fired on 19™ April, 2012 from Wheeler Island.
(b) It has a range of 5,500 kilometres.

(c) Itis about 120 metres long and three metres wide.

(d) It can carry nuclear war head of more than one tonne.
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65.

66.

67.

68.

69.

70.

71.

feAfefiad Temgiat st S et &=hel o STaRie! shA | =aied ® 3R 9 53 e T T
TR T T DT
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3. e 4.  3TUIThIEH
@?’2

(@) 1,4,2,3 (b) 1,2,3,4
) 2,4,3,1 @ 3,2,4,1
AT o ST 7T TR T off ?

(@) S (b) U
(c) =t d) 3=

e <t oTerte f6U T, 5 e (A) qer sRor (R) S T e
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CTE

(@) (A) U (R) I T & @ (R), (A) ! T&l A€ |
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(c) (A) AT € 3T (R) Tel |

d (AT R)SH TAAE |

frfefad 9 9 ford et &6t 3 9| @ ST S € 2
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(c) U I (d) Ime

frefeiad 5 9 STEUs o {hd ST0 Shicay § Fal14eh areseT Ui arar e ?
(a) 1000 X ¥ A (b) 1000 & 2000 HX

(c) 2000 F 3000 HiX (d) 3000 T T IH

STRIGUE i AT & Ty § (FATANgd Heml W {aar Sifs aor 919 53 7 e T T&t W A
T I

1. 29, 991 &l e € |

2. oerTEr, 9k e g |

3. fouer, W weasm € |

4, TR, TR I GETH E |

E‘L)?'Z
(a) QHTE | (b) HeeT 1,2TE 3 WEIE |
() ®Hae2,3Td4TEE | (d) FHIA1L,2TE4TEE |

-5 frareet o qre § e ot § 9 = @1 gel = E ?

(a)  SHPT THCTATYEsh TRIETOT 19 3197 2012 i EdlioR 319 & fohaT 74T |
(b) =& 5500 fehciTHIcR X T AR R THATE |

(c) & TITH 120 HieX oTeal] e i Hie ST e |

(d) & UH T F AP I TWHIV] Thiceh IS o ST FHheAT & |
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72.

73.

74.

75.

76.

Match List — I with List — IT and select the correct answer from the codes given below the
lists :

List -1 List - II
(National Park) (State)

A. Bandipur National Park - 1. Uttar Pradesh
B. Dudhwa National Park — 2. Karnataka
C.  Gir National Park — 3. Orissa
D.  Simlipal National Park - 4. Gujarat
Codes

A B C D
(a) 4 2 3 1
(b)) 2 1 4 3
(c) 2 4 1 3
d 3 1 4 2
Which one of the following pairs is correctly matched ?
(a) Halongas - Fire extinguisher
(b) Polythene — Artificial fibre
(¢) Yeast —  Carbohydrate
(d) Nylon — Natural fibre
Richter Scale is used for measuring
(a) Humidity in Atmosphere (b) Velocity of Wind
(c) Velocity of Water (d) Intensity of Earthquake

Match List — I with List — IT and select the correct answer using the codes given below the

List -1 List — II
A. Coal 1. Ore of Iron
B.  Uranium 2.  Thermal Plant
C. Hematite 3. Cement Industry
D. Limestone 4. Radioactive Substance
Codes :

A B C D
(@ 1 2 4 3
by 2 1 3 4
) 2 4 1 3
d 3 4 1 2

What is the correct order of succession of the Presidents of India ?
1. Dr. Zakir Hussain

2. Dr. S. Radhakrishnan

3. Fakhruddin Ali Ahmed

4.  V.V.Gir
(@ 2,3,4,1 (b) 3,2,4,1
c 41,23 d 2,1,4,3
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73.

74.

75.

76.
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C. WRILH ™A 3. 3Iem
D. fofHeioe TE e 4. ToRE
Fe:
A B C D
(a) 4 2 3 1
® 2 1 4 3
(c) 2 4 1 3
@ 3 1 4 2
TTeiad gt 5 @ i 91 U 9el gaferd € ?
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(©) T - FEleRgd
(d) =T —  VTIdeh 9w
(e TR ST ST Tohdeh ATOT | TR ST € 2
(a) TgHSA T STEdl (b) ITFH AT
(c) SA®AT (d) T H ctere
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A.  HiFen 1. I8 1 3T
B. qFem 2. A faed Te
C. @URRe 3. Oy 39
D. TR 4. eyt v
Fe:
A B C D
@ 1 2 4 3
b 2 1 3 4
© 2 4 1 3
d 3 4 1 2
IR o AU T Tel ST T € 2
1. Sf. SR g
2. . U9 TURYH
3. HELEM 3Tl 3TEHg
4. drar R
Fe:
@ 2,3,4,1 b 3,2,4,1
© 4,1,2,3 @ 2,1,4,3
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77. With which sport the term ‘Chinaman’ is associated ?

(a) Boxing (b) Football
(¢)  Cricket (d) Judo
78. The Tennis player who won singles title of ‘Australian Open-2012’ is
(a) Roger Federer (b) Rafael Nadal
(c) Leander Paes (d) Novak Djokovik
79. On which of the following ground/place Sachin Tendulkar played his 100" test match ?
(a) Mumbai (b) Kandy
(¢) Oval (d) Cape Town
80. Who was the first Indian to become a member of British Parliament ?
(a) W.C. Bannerjee (b) M. Malabari
(¢) D.N. Vocha (d) Dadabhai Naoroji

81. Who among the following was elected as the Chairperson of International Monetary Fund
(IMF) in 2011 ?

(a) Hillary Clinton (b)  Christine Lagarde

(¢) Indira Nuie (d) Sheik Haseena Wajed
82. ‘Histology’ is associated with

(a) Study of tissues (b)  Study of finger prints

(c) Study of heart diseases (d)  Science of plant kingdom
83. To whom was the prestigious ‘Templeton Prize’ for the year 2012, awarded ?

(a) Aung San Suu Kyi (b) Dalai Lama

(¢) Dilma Rousseff (d) Hillary Clinton

84. On the occasion of which mathematician’s birthday, the Prime Minister of India declared
the year 2012, as ‘National Mathematics Year’ ?
(a) Sir C.V. Raman (b) J.C.Bose
(c)  Srinivasan Ramanujam (d) S. Chandrashekhar

85. °‘ELISA’ test is done for the detection of
(a) Diabetes (b) AIDS
(c) T.B. (d) Cancer

86. The advantage of using an IC is
(a) Easy replacement in case of circuit failure
(b) Energy-saving
(c) High reliability
(d) All of the above

87. A technique used by codes to convert an analog signal into a digital bit stream is known as
(a) Pulse code modulation (b) Pulse stretcher
(¢) Query processing (d) Queue management

88. The power of which number is used in the binary system ?
(@ 4 (b) 2
(c) 10 d 8
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77.

78.

79.

80.

81.

82.

83.

84.

8s.

86.

87.

88.

A 9T [T T ¥ qraraa § ?
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(a) YIE (b) T

(c) &= (d) H|W

TS o YT I oTH &

(a) Wihe aweTar & T § TR WL

(b) ST i TUd

(c) 3= foavaaHaar

(d) RIS gt

IS FRT UK Teh TRk ST TATCATT FGTHTeT i STehi foie T | qRafad e &, Heetl &
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(c) T WA (d) T HASHE
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(a) 4 (b) 2

(o 10 d 8
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89. What difference do the 5™ generation computers have from old generation computers ?

(a) Technological advancement (b) Scientific code
(c) Object oriented programming (d) None of the above
90. A device designed to read information encoded into a small plastic card is
(a) Magnetic tape (b) Badge reader
(c) Tape puncher (d) Card puncher

91. Binary numbers need more places for counting because
(a) They are always small numbers
(b)  Any no. of 0’s can be added in front of them
(c) Binary base is small
(d) 0O’sand 1’s have to be properly spaced apart

92. Which language was devised by D.G. Bobrow, W. Feurzeig, Seymour Papert and
C. Solomon ?

(a) APL (b) COBOL
(c) FORTRAN (d LOGO
93. The time required for the fetching and execution of one simple machine instruction is
(a) Delay time (b) CPU cycle
(c) Real time (d) Seek time

94. An optical input device that interprets pencil marks on paper is
(@) OMR (Optic Mark Recognition) (b) Punch Card Reader

(c) Optical Scanner (d) Magnetic Tape
95. The complete picture of data stored in database is known as

(a) Record (b) Schema

(c) System flowchart (d) DBMS

96. Which part of computer system, interprets program instructions and initiate control
operations ?

(a) Input (b) Storage unit
(c) Logic unit (d) Control unit
97. Who was honoured with Dada Saheb Phalke Award for the year 2011 ?
(a) Manoj Kumar (b) Pran
(c)  Soumitra Chatterjee (d) Vaijantimala

98. What is the percentage of carbon-di-oxide gas in earth’s atmosphere ?

(a) 0.03% (b) 0.3%

(c) about 10% (d) about21%
99. The slogan of ‘Commonwealth Games 2010’ was

(a) Go Forward (b) Play and Win

(c) Touch the Sky (d) Come Out and Play
100. In which reign of the Mughal ruler, the ‘Ramcharitmanas’ was written ?

(a) Babar (b) Humayun

(c) Akbar (d) Bahadur Shah Zafar

89. =l digt & e |, R Uigl & FrgeX | o e & ?
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93.
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9s.
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98.
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